NJDOT EE# 0248-9¢2

WIRE OUTLET A

MATERIAL: BRONZE, 85-5-5-5 v
Lotyoe s/6* R
9, 5—| Fo5
1716 1/16
i i = =
. 1727 } Vi
3/16 Shsm E=IE=S Ve \\ FLAT WASHER
[ [l
\ T "
) 1/4-20° — | < s
— BOTH SIDES p | > 7
— 1/4 r ' LOCK WASHER 1 J—L_l—‘ FLAT WASHER
1= 9.3 9.9
;ﬁ- T4 \ 3/4"
1-1/2* PIFE THREADS —B- A
HEX LOCK NUT S8t R SECTION A-A
MATERIAL: BRONZE, 835-5-3-5 HEX LOCK NUTS — BRONZE FURNISH (2) WITH EACH UNIVERSAL JOINT NOTE!
DUTLET NUTS T0 BE PROVIDED WITH 4 MM DP BY 5 NN VIIE MATERIAL — BRONZE, 85-5-5-5  DRILL CASTING FOR C3D4 STN. STL. 1/16"
WALL BUSHINGS, FURNISH & PRESS F1T
SLOT FOR SERRATED RING) DRILL & TAP L/4-20 X 3/8" FOR INTD castInG
(2> §TN. STL. SOC HD SET SCR, ONE EACH SEDE.
FURNISH WITH EACH UNIVERSAL JOINT!
<1> 5/@ x @ SIN. STL. HEX BOLT
<& 5/8 SN STL HEX NUTS
(® 5/8" STN. STL FLAT WASHER
<> 9/8° STN. STL LOCK WASHER
6-a/4
72 TEETH SPACED 5° APART e-1/4" 3-1/e* 1
AROUND ENTIRE DIAMETER <4) - B-3/32° DIA HOLES
e e
n

0o
O
\

L-1/2*

NOTE:
SERRATED POS1TIONING_RING

3-a/4

|I'II'I@
S|uu@

pal
=S e
N

TO BE PROVIDED VHEN TRAFFIC N L
SIGNAL [S DIRECTLY ATTACHED TO 5
WIRE OUTLET FITTING. 12
1-1/2
DETAIL OF HEAD POSITIONING RING PIRE THREADS N
MATERIAL: DELRIN N

DRILL HOLES <4> INSERT <1> STN STL.
BUSHING - 1/16 THK WALL I, D. TO TAKE
STN. STL. 3OLT, SLIDING FIT. BUSHING
SHALL BE [NSERTED BY THE FABRI

IN HOLE OF CASTING AS_SHOWN AND TO

BE OF A TIT VHERE AS BUSHING CAN BE
oE

FURNISH FI1BER BUSHING
OR POLYETHLENE BUSHING

DRILL & TAP CASTING
FIR # 10-22

BUSHING . 640" 1.D, x

.765" 0D x B5/16* LG

(@ 10-32 x 3/8° STN. STL.
RD. HD. NACHINE SCREWS

NJDOT BRONZE TRUSS

HANGER

NOTES: Signal Control Products, Inc.

1, ON _INSTALLATION THE CONTRACTOR SHSLL PLACE THE

REGUIRED 0 UBTAIN VERTLCAL POSITIONING AND MeX- 199 Evans Way, Branchburg, NJ 08876-4600

IMWM VISIBILITY OF THE S[GNAL ASSEMELY 70 THE
APPROACH ROADNAY AND AS DIRECTED BY THE ENGINEER

Ph: 908-231-1133  Fax: 908-707-0333




